Unit 5 Notes

Systewms of Equetions




Genbative Schedule

Day Date Classwork Assignment
Thurs. 12/11 Test #4 Watch Video #5.1 w!th Notes - Solving
Systems of Equations Graphically
1 . . .
Fri. 12/12 Introduction to Solving Systems PS #51
Mon. 12/15 by Substitution R
2
Tues. 12/16 Continue Solving Systems by Watch Video #5.3 with Notes — Solving
' Substitution Systems of Equations by Substitution
3 Wed. 12/17 | Introduction to Solving Systems
Thurs. 12/18 by Elimination Finish P.S. #5.3
4 Continue Solving Systems b Finish P.S. #5.4
Fri. 12/19 oving sy Y Watch Video #5.5 — Solving Systems of
Elimination . Lo
Equations by Elimination
5
Mon. 1/5 . -
Tues. 1/6 Activity Finish P.S. #5.5
6 Video #5.6 — Applications of Systems
Wed. 1/7 Quiz #5 ' PP . y
of Equations
! Thurs. 1/8 Practice Applications of Systems
i bpIcations oF 5y Finish P.S. #5.6
Fri. 1/9 of Equations
8 Activit
Mon. 1/12 y Catch-up
Catch-up Day
9 .
Tues. 1/13 Special Cases of Systems of PS. #57
Wed. 1/14 Equations R
10
Thurs. 1/15 Review for Test #5 Review for Test #5
11
Fri. 1/16 . .
Tur;s. 1/20 Review for Test #5 Review for Test #5
12
Wed. 1/21 Test #5
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Systems of Equations

NoGes 5.1 - Solving Systews Graphicdlly

1.) Circle all ordered pairs (x,)) that are solutions to the equation 4x -y =10.
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2.) Find another solution to 4x -y =10.
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3.) How many solutions are there to 4x — y =107
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Noties 5.2 - Solving Systews Using Substibubion Day 1

Given the following system of equations, solve for x and solve fory.

3x-2y=4 3% - Qy=4
xX=2 A@> -2y =4
o -2h=" } ’
’_‘O,iﬁ;ﬁa— (205
15—--\

Solve the following system of equations.

y=3x roy= B (A = 3X
2x+5y =34 A +5(2) = P
= ) )
AX +15%= 4 9=3= (;2 )
Y=6
\Tx="24
A =24
Solve the following system of equations.
X=2y+2 Hx+2n=4 (
4x+3y =41 AN X=2ure -
H( AW+ 2y Bpy= % =B+ 2
Qur R+ 2y= 4| K= o+
Noyrg, = 14\ r=2

4 3
Tg-2 V(%)

wW=>2
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Notes 5.3 - Solving Systews Using SubsBitubion Deay 2

Solve the following system of equations: ~ >%~ @~ "= #}

—HX+ Q=6 — Qx ~(o=21
-4x+y=6 ®+'-ix %r‘ix _ te +o @ ‘3/"%3
e v
Sx-y=21 U= o+ 4X —ax =27
@ x-4=2 e
X (eehd=2, B Y=
_'HC-TD-V 8 = (o
List of Steps to Solve a System of Equations by Substitution:
3x-2y =11
X+2y=9
Steps Solution
o _ XY=
1.) Isolate a variable in one equation. 2y -3Y
- - . /
Look for the easiest variable to isolate!
X = A=Y
3%’9\ =\
2.) Substitute that into the other D
_ 3(0\-3\\5\ =1\
equation. J/
-loy-29=\
3.) Now that you only have one variable Jl‘k‘f%’%
in the equation, solve it. -2 -1
-‘%9-_: o= ‘:5': A
. . Y -\ =
4.) Plug the answer |r-1t0 any equation to gx_ 2(\3\33\\
find the other variable. 3X-H=\
=S
5.) Write your answer as a coordinate. (5, 2D
3A-2y=1 X+29= 9
i i - 3ABES-ac 2)H=\U\
6.) Check the solution in both equations. 5+2(21=9
\S- R=1 5++H=19
W= 1" 9=9
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Notes 5.4 - Solving Systews Using EliwinaBion Day 1
Just like substitution, we want to end up with an equation with only ¢y(\& variable.

Using this method, we Sipeie. a variable byglg&\i‘_o\( the equations.

Make sure the signs are O\QQQQ};Qs
Make sure your variables e \)&‘) before you add!

X+2y=8
xX-2y=4
You are going to work with your partners to determine a possible solution to solving the system of

equations above. It does not matter if your answer is right or wrong. What matters it that you

persevere and you take risks.
T e
X+94=8 X A= (M)

e TR (o“fg&)’i?(o

=12 =
>~ 2 -2~
-

A=l >~

ey =18) “Y-0= B 2 3X7¢=3
X+2y =25 +AV=25 AxA5y =4 L'LX+5B=‘+
Y= x=7 A1) «BOF H
7 7 -

= | - -
X4 ‘-‘% : RN

— BY=0

\/\;\\ gzo
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Noties 5.5 - Solving Systews by EliwincBion Day 2

dx+3y=-1
Sx+4y =1
You are going to work with your partners to determine a possible solution to solving the system of

equations above. It does not matter if your answer is right or wrong. What matters it that you

persevere and you take risks.

—\\C’\X-\- %3—- - — ~\A —'D‘:S: Ly Hx _,_?)‘3:\\ E
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LGrr ey O ENED S gy
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)\: -7 3= &7
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q<)(+y=1‘b-—y or 3 3 :;2x+5
1.) X"jé— 2o 2&{5%+4§/x:16>‘7 ](;Z +BY = 32
- X

I9x-9y =36 =
M ,5%({)(1'33:@% —59Y= -5
[R% = Koo .
1= '1§:Z
2*}:5 :_f;* 5% HYy=16
_0\% -0 - BAH(-1) =10
T l(’—h“b\ SX Yoy

(G oy
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Notes 5.6 - Applications of Systews of Equdations
Do not forget to write \ ek Soten®ics !

1.) Alexa purchased 12 pens and 14 notebooks for $20. Hannah bought 7 pens and 4 notebooks

for $7.50. Find the price of one pen and the priceiof one notebook, algebraically.
Lok sk o pen=0
leb ct & (Setsyv=n

(290 4N=
R +\ViN="2% er 70
AlTe Mo = 1Mo + N=30
\ 6 *MN=20
4N = &
N=1

O pen e H0O50 ond o Vel

. Cv ﬁi\gﬁ | |
2.) Tyler has a collection of grasshoppers and crickets. He has 561 insects in all. The number of

grasshoppers is twice the number of crickets. Find the number of each type of insect that he

has. Lkt 6%  foss \oppers=gy
Ler H of crickeks=c -/, AC T C =56\

%)TC c—S(Q\g S&»os\_\m_\,‘@(\' 3C_$‘5(a\
C=|®7

9=3c=aClsD=FpHt
P crihss ande 3T gmss\r\oc

3.) A total of 600 tickets were sold for a concert. If the tickets sold in advance cost $25 each and

the tickets sold at the door cost $32 each, and $16,309 worth of tickets was sold, how many of

each type of ticket was sold?

Lok 4 o gdvarcetor oo
Leb ¥ Quy fr=

- 240 +0= (a0 — ~2A50.-95A0= — 5000
gg(l-\ﬂ)’)d =S\ > 250« 324 = (B

7 =) 309
Q= \&T

a+d= (D

A+|F] = O BT drets =0\d
0= Als of e Aeer
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Notes 5.7 - Speciadl Cases of Systews. of Equcations

Warm-up: Please solve the following equations.

You have learned to find the unique solution to a system of linear equations, when it exists.
However, not every system of linear equations has a unique solution.
7SN AN
1) 3(x+4)=2x+17+x-5 2.) 2(x+5)+3x=5x+14
WA T N
XA = 3% 1\

C20_sivhons )

&«-ro#ﬁx =5x « 4

Sx =+ IO = 5% « 4
- oX —5%

\O 31+
o <oludtion

3.) With your partners, please solve the following system of equations using substitution.

2xty=1-= 2% =\
Ax+2y =4 -4 ~2X

ARE29 =4
AR+ U-20="1
Aty 2-k=4H

24

4.) With your partners, please solve the following system of equations using elimination.

’;2(2)(4-)/:]) —p - —224: -2

Ax+2y=4 > X+ %sb\-

—5-2 (@
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5.)  With your partners, please solve the following system of equations by graphing.

2x+y=1  y
Ax+2y =4 f\
—ook Sk THRR . A AL S
%:\,% Q;ﬂ"l‘\’)’\')(. 2
pn = Se | ) 0 » X
- 4 | -2 \2 4 €
Q:Q—Q\X X)) \
\
-4

6.) What happened when you tried to solve the equation with all three methods?!

There wexe. NO splikiors!

7.) With your partners write a thorough explanatlon Why this happened algebralcally

Tre vortob\es are e same, W\% N @Ou(\cwQ Sof g}éﬂfm

Consrants.

8.) With your partners write a thorough explanation why this happened graphically.

&mm@&we (\M@f ch

9.) With your partners, please solve the following system of equations using substitution.
)(-\'QLA =2 2)( -\-3-\8—_'. Ly

‘)\(fw _;2'5_;22 Q,(Q-_z:ﬁ)_\- ‘&\5:1—\ (' SSUIXENS
2x+4y =4 ;(-_-7_..23 H_%‘é_\%&: "

)‘\—.:ﬂ‘



10.) With your partners, please solve the following system of equations by graphing.

X+2y=2

2x+4y =4
X*‘Q&’:—’L 27(-“1"}3’-"’—}
~X - — 2% -2
Y
2::?_ -:/(ji Aoy =201
o A A
=%

- =1
= -,:\L—v\

T‘(\Q{b‘\’{, Y o e — <o
‘\)N.g WRCY oo RS
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B

-4

11.) With your partners, please solve the following system of equations using e/imination.

A== Gr-M=-n
2x+4y =4 — 9\7\-‘-1—\3:”"

R =
O=0

P N

12.) What happened when you tried to solve the equation with all three methods?!

Mere were srsnyine
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13.) With your partners write a thorough explanation why this happened with algebraically.
When e eopodisns axe. siopiGed , -y e exaciiy
oD 3CS :

o0e. c:qem’m wil) SRSy Ne. M@egm \.

14.) With your partners write a thorough explanation why this happened graphically.

Summary:

e  There is no solution when 42 vaciok\es are P Samio , b Mo coansyank

@ AEGr ot (O\lgeﬁmmm@ o W ings ore Eg@“e[ ('gmpb('com§> .

Example:
X t39=9
e  There is one unique solution when ‘ x{al ol
o e ees XﬁasakuqumQWD
Example:
B y=9
e  There are infinite solutions when oD ox
Sl oC ..\)\\g 5‘&25 R ﬂﬁﬂg <QYN0 (%. ? . :;g .
Example:

Aoy =2



